CZZ51SO15552k ST

CZ Series ISO15552 Standard Cylinder

1% Ordering Code

[] - €-63x50-25 - S - LB - FK - MT
itk BT
Rod End Fitting Type
A S Magnet Code l
- l =H: EARE
4N Tube Type {2 Bore B R EER Fixed Type  |: L
l S: WERIR l %23
/_ Blank: Without Magnet FH: &iREEL
=H: HEW 1772 Stroke S: With Magnet =1 EAR FK: iZapesk
T: FIFFH LB: AiSEIEE Blank: Basic type
M: KFEF FA: BiE=EIEE(FnE=) |- | fitting
Blank: Square Type e FB: B=REEE(Fix=) Y:Yfitting
T: Tie-rod Type BIE{THE Adjust Storke CA: BEEER(EHIK) FH: Bearing fitting
M: Mickey Mouse Type l CB: E=EEE (WEIK) FK: Floating fitting
SDB: EEEER(SE)
25:25mm o
) TC:AERIER
ZJIX S Series Cod 50:50mm Blank: Basic type
IS Series Code . : »
75:75 S ST =
mm LB: Front & back fixed type HYERRSRE Sensor Cﬁr% -
FA: Front cover fixed type l
CZ: 1SO15552 tREE sz (Front flange type)
’ XYC-31REMEFF <
CZD: 1ISO15552 tmfEih S &hEL FB: Back cover fixed type XYC—-31R
CZJ: ISO155525 A TRE AT AR (Back flange type) magnetism switch
CZ: 1SO15552 Standard Double Action Type CA: Back cover fixed type
CzZD: 1S015552 Standard Double—shaft, (Single earring)
Double Acting CB: Back cover fixed type
CZJ: 15015552 Double-shaft With Adjustable (Double earring)
Stroke SDB: Back cover fixed type

TC: Central trunnion type

#F& Specification 172 Stroke

P42 Bore (mm) 32 | 40 | 50 | 63 | 80 | 100 | 125 w | R | meoE |BxoReE
= " - . = | Standard | Buffer Stroke
y

shERLT/Motion Pattern £7 Double Action Bore Stroke Stroke S
TN BR/Working Medium iSRS Fitered Air

2
ffif FESL46 FE S3/Compression Pressure 1.5MPa 3 20

2550

B #AES/Max. Operating Pressure 1.0MPa e 80 100
= ) . 50
EIELEFES/Min. Operating Pressure 0.1MPa 125 160 22
2% %/Buffer S (tRfE) Air Buffer(Standard) 63 200 250 10~2000
RS EE/Condition Temperature -5~70C 80 320 400 -
B E/Operating Speed 50~800mm/s 100 500
EENO1#&/Port Size G1/8” G1/4" G3/8" G1/2" 125 35

76



CZEREHISO15552hr HES ST

CZ Series 1SO15552 Standard Cylinder

£514 Internal Structure

\\\\

G 7772222222

/// g

FS B = E=5

NO. Designation NO. Designation
1 SHZEFTAZEF Piston Rod Nut 10 | B4%k(ETiE) Magnet (Optional)
2 JEZEHT Piston Rod 11 fifEETR Wear Ring

JE‘EK)‘J-/I\ el
3 Front Cover Seal Ring 12 i1 Barrel
4 ZiH4h& Bearing 13 J&E2ZE Piston
5 Bl Front Cover 14 IR Buffer Seal
6 #2458 Buffering O-ring | 15 2 T55t Buffer Needle
7 EEBEORIE O-ring 16 J=% Back Over
8 EETESE 17 A7 AR
Pistion rod O-ring Hex Socket Screw

9 TEZEORE Piston O-ring 18 Uit 5= [EEIR R Profile Bolt

A+1T#2 (Stroke)

C+{T42 (Stroke) i
E,. Bl G 2-£2h5203 (Buffer Nut) 8-LiE (Depth) M
CZ H FlN.la X
L —
Sz[3f P ___g%______l%i a
NS [S]
of
\Y
A1+{T32 (Stroke) x2
C+{T%2 (Stroke)
E_ Bl o |_B _E+f72 (Stroke)
| H,_ EIN, [Q 2-4% 4218 Buffer Nut) ‘%’ 8-Li% (Depth) M
CzD = — A
S EE W =i i MR ___g —
SIES) &’ O
\Y
A2+1T#2 (Stroke)x2+ 7] 1742 (Adjustable Stroke)
C+{T#2 (Stroke) B i712 (Stroke) _71+i§{7i2[Adjustable Stroke)
E B|.G 2-4% 193218 (Buffef Nut)
H E[N, [0 F,
CZJ “’i" - | o
Q2| TR | Z ___g p—— I
SRE o
. o P
R~ Dimension Sheet
PI12Bore / £55Symbol A A1 A2 B (o} D E = G H | J K L
32 142 190 185 16 94 30 33 10 25 22 17 6 M10x1.25 M6
40 159 213 207 20 105 35 34 10 29.5 24 17 7 M12x1.25 M6
50 175 244 233 27 106 40 425 10 32 32 23 8 M16x1.5 M8
63 190 258 247 26 122 45 42 10 36 32 28] 8 M16x1.5 M8
80 214 301 288 35 127 45 53 10 37 40 26 10 M20x1.5 M10
100 229 321 308 40 137 55 52 10 39 40 26 10 M20x1.5 M10
125 277 394 378 46 160 60 71 10 435 54 40 10 M27x2 M12
A &EBore/fFSSymbol M N [¢] P Q R S T U V W X Y z Z1
32 12 15 G1/8 5 3 6.5 45 325 12 10 28 4 46 58.7 21
40 12 17.5 G1/4 7 &) 7 52 38 16 13 83 4 537 68 21
50 12 20 G1/4 7 3 9 65 46.5 20 17 38 4 65.8 84.5 23
63 12 22 G3/8 8 5] 9 76 56.5 20 17 38 4 79.9 99.6 23
80 15 23 G3/8 10 5 12 94 72 25 22 435 5 101.8 | 123.8 29
100 15 26 G112 10 B 14 112 89 25 22 47 6 1259 | 1489 29
125 20 29 G112 10 5 14 134 110 32 27 53 7 156.9 | 179.6 40.5

17



	德捷catlogue-2021 76
	德捷catlogue-2021 77



